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Nt+1 = Ni+Ni(0.40273-0.0031463 Ni)
Ñ0 = 883.69; R2 = 89.91%
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Nt+1 = Ni+Ni(0.4169-0.000299 Ni)
Ñ0 = 785.22; R2 = 95.531%
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N0 = 924,44
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Nt+1 = Ni+Ni(0.3004-0.00022287 Ni)
Ñ0 = 916.09; R2 = 90.57%
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N0 = 903,11
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Nt+1 = Ni+Ni(0.2594-0.0001755 Ni)
Ñ0 = 900.37; R2 = 88.15%
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N0 = 806,4

(11; 1235)

Nt+1 = Ni+Ni(0.4247-0.0003506 Ni)
Ñ0 = 787.87; R2 = 90.79%
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Nt+1 = Ni+Ni(0.000000586N2-0.00127N-0.6041)
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(e) Nt+1 = Ni+Ni(0.000000151Ni
2-0.0002913N-0.257)

Ñ0 = 789.28; R2 = 90.34%
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Nt+1 = Ni+Ni(-0.3542ln(Ni)+2.5351)
Ñ0 = 882.21; R2 = 90.25%

(9; 1300)

N0 = 892

1600
1500
1400
1300
1200
1100
1000

900
800

Fi
be

r l
en

gt
h 

(µ
m

) (b)
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Nt+1 = Ni+Ni(-0.2685ln(Ni)+1.9284)
Ñ0 = 914.05; R2 = 91.29%
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Nt+1 = Ni+Ni(-0.3659ln(Ni)+2.5977)
Ñ0 = 787.51; R2 = 91.34%

N0 = 806.4
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(e) Nt+1 = Ni+Ni(-0.2579(ln(Ni))2+3.2170ln (Ni)-9.8403)
Ñ0 = 788.74; R2 = 90.55%
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